Worksheet 1.2

Addition and Subtraction.

Write an addition sentence that corresponds to the situation. See examples on page 9 in text.
A pair of running shoes costs $74 and a pair of basketball shoes costs $66. Find the total cost for both

pairs of shoes.

A) $74+ 876 = §150 B) $74 4 66 cents = $14

C) $74+ %66 = $140 D) $66 + $8 = §74

Add. See examples on page 11 in text.
964 4 170

A) 1034 B) 1124 C) 1134 D) 1034

8534
4610
—+ 2959

A) 16,082 B) 15,103 C)

229
+ 66

A) 285 B) 295 C) 889

Subtract. See examples on page 14 in text.
588 — 274

A) 324 B) 414 C) 314

15,893 D) 16,103

D) 296

D) 298

Math 80 Lab Workbook

page 3 of 82



Worksheet 1.2

Solve the subtraction problem. See examples on page 14 in text.
6. 76

— 952

A) 128 B) 20 C) 34 D) 24

Subtract by borrowing as necessary. See examples on page 15 in text.
7. 63

— 37

A) 20 B) 36 C) 26 D) 100

8. 11,000
— 95,889

A) 5009 B) 5111 C) 10,111 D) 5109

Rewrite the following number using digits. See examples on page 5 in text.
9. One hundred million, six thousand

A) 106,000,000 B) 1,600,000 C) 1,006 D) 100,006,000

Answer the question. See examples on pages 5-6 in text.
10. What does the digit 2 mean in the number 247,189?

A) 2 ten thousands B) 2 thousands
C) 2 hundred thousands D) 2 hundreds
Math 80 Lab Workbook

page 4 of 82



